User’s Guide

February 1998, version 2.0
atch Product no. NI:15-002/English




Copyrights

© 1998, Worldpatch International, Almere, the Netherlands. No part
of this publication may be reproduced by any means without the prior
written permission of Worldpatch International, the Netherlands.

Worldpatch and the Worldpatch logo, Thermoseal, Topline and
Thermocrest are registered trade marks of Worldpatch International.

Worldpatch International
Draaibrugweg 14, 1332 AD Almere (the Netherlands)
PO Box 50052, 1305 AB Almere (the Netherlands)

Telephone number:  ++31 36 5491177
Fax number: ++31 36 5328967
E-mail: info@worldpatch.com

ii User’s Guide Thermoseal NL 15R




Preface

Dear user,

Welcome to the large group of Worldpatch users! The product you
have bought has been taken good care of since the moment it was
produced. We do all we can to ensure that you will have much profit
from this Worldpatch product.

In the first place we help you along with this user’s guide. Worldpatch
products have been developed with extra attention for your
convenience. However, we suggest that you go through this manual,
to prevent accidents while using the machine.

In this manual you will find information concerning the NL-15-R of
Worldpatch in Almere (the Netherlands). This user’s guide is meant
for all users of the machine, but also for the people who will install
and maintain the NL-15-R. You can read about the installation, the
maintenance and the various components of the NL-15-R, but of
course also about operating the machine.

In case there were any damages on receipt of your product, please
contact your Worldpatch distributor.

i




Contents

1. Introduction Thermoseal NL 15R
1.1 What did you receive?
1.2 Your supplier
1.3 Specifications of the Thermoseal NL 15R
1.4 Safety
1.5 Conditions for guarantee and product liability

2. Installation
2.1 Handling instructions
2.2 Installing the machine
2.3 Assembly

3. How to operate the NL. 15R
3.1 Starting with the NL 15R
3.2 Function
3.3 Checking the pre-pressure
3.4 The control panel ‘smart box’
3.5 Safety facilities
3.6 Temperature settings
3.7 Temperature check
3.8 Setting and adjusting the pressure
3.9 Time settings
3.10 Protection against overheating

4. Maintenance
4.1 General
4.2 Replacing the control panel the ‘smart box’

S. Functions of the ‘smart box’
5.1 Hlustration of the ‘smart box’
5.2 Messages in the LED display
5.3 Changing the settings
5.4 Setting the temperature with the ‘smart box’
5.5 Press time settings on the ‘smart box’
5.6 Pressure settings on the ‘smart box’

6. Trouble shooting

7. Accessories and components
7.1 Components that should be replaced regularly
7.2 List of components (see drawings from page 24 onwards)
7.3 Order form components Thermoseal NL 15

8. Drawings and diagrams
8.1 Exploded view NL 15R
8.2 Pneumatic Diagram NL 15R
8.3 Connection diagram circuit board NL 15R

OO ND 00 00 =1 =) Y o e W W) W W D

iv

User’s Guide Thermoseal NL 15R




1. Introduction Thermoseal NLL 15R

1.1 What did you receive?

¢ & © & o

The Thermoseal NL. 15R has been packed in a cardboard box. The
following articles should have been delivered:

Thermoseal NL 15R heat seal machine

Control panel ‘smart box’ (already installed)

Water condenser with pressure regulating valve (already installed)
Foot pedal with cable and plug

User’s Guide

If one of these articles is missing, please contact your Worldpatch
distributor.




1.2 Your supplier

Worldpatch
Draaibrugweg 14, 1332 AD Almere (the Netherlands)
PO Box 50052, 1305 AB Almere (the Netherlands)

Telephone number: ++31 36 5491177
Fax number: ++31 36 5328967
E-mail: info@worldpatch.com

You can easily order supplies or components for the NL 15R from
your Worldpatch distributor by filling in the order form (page 23),
preferably by fax. Please write down the correct part from the list on
page 21 of this user’s guide and give the quantity of the items you
want to order.

User’s Guide Thermoseal NL 15R




1.3 Specifications of the Thermoseal NL 15R

The pneumatic NL 15R is a practical and universal heat seal presswith
two press pads for optimal use. Therefore, you do not have to wait
during the press cycle, but can prepare the next article.

Textile labels, company emblems, repair patches, transfers, in short all
Worldpatch materials for marking and repair are easily and
permanently pressed on all types of fabric. The machine is operated
with a foot pedal, but can also be set to automatic operation. In that
case, the press cycle is performed automatically when the swiveling
arm comes in the end positiom.

The adjusted time, pressure and temperature can be read from the
control panel. If the pressure or the temperature are incorrect, or if the
machine gets jammed, you cannot patch.

The Thermoseal NL 15R meets the German GS standard under no.
93032 and it also meets the European CE criteria 89/392/EWG and
91/368/EWG.

The machine opens immediately by touching the contact area below
the safety frame. Another safety measure that is available is the
mechanic switch,

Because of the low heat radiation the machine ensures a lower energy
consumption and for the user a strongly reduced exposure to heat.

Attention !In order to achieve the required pressure, the NL I5R
must be connected to a compressor with a pressure of at least 6 bar.
The air must be dry and clean. You can install a control unit that
prevents the pre-pressure from exceeding 6 bar.

Specifications :

Power consumption..........ccocoeeevireciieirieinnn. 550 watts
Power supply ..o, 220/240 volts
FUSES....cooiiiiiiiicii e 2 x 2.5 amps (slow)
Operating temperature.......................ccooevvrevrereenns 204 °C
Safety temperature ..............ocoooeiiireno, 190 - 220 °C
Pre-pressure ... < 6 bar
Pressure range...........oocoeeiviiiieiee v 3-6 bar
Safety settings pressure........... 3 bar (min.) / 6 bar (max.)
Air consumption per cycle ................ooooooeenin 1.5 litre
Height......o.ooooooiiiii e, 600 mm
Width. ..o 170 mm
Depth (connections included)............................. 670 mm
Press time ..o, 1 second - 4 minutes
Press pad dimensions ................................ 150 x 125 mm
Net weight ..o, 80 kg
A-weighted noise level.............................. <70 dB (A)




1.4 Safety

The Thermoseal NL 15R meets the German GS standard under no.
93026 and also meets the European CE criteria 89/392/EWG and
89/368/EWG. In normal circumstances almost nothing can go wrong.
For safety reasons, however, we provide you with some instructions
by means of which you can keep the risks to a minimum.

¢ Always switch off the power (pull the plug out of the socket) when
you do maintenance work or clean the machine.

¢ Take care that there is enough space around the machine. Cables and
connections must not get jammed. Although the heat radiation of the
press is low, there should be enough space for cooling down.

¢ Avoid contact with the press element and the heating element.

¢ Pull the fabrics tight around the press pad and ensure that your hands
are away from the pad before operating the foot pedal.

User’s Guide Thermoseal NL 15R




1.5 Conditions for guarantee and product liability

Worldpatch guarantees a correct working of the machine and its
components for twelve months.




2. Installation

2.1 Handling instructions

When you receive the machine, it is packed in a cardboard box. If you
have to replace the machine at a later time, it is recommended to pack
it in a similar way. Please let the press cool down first,

2.2 Installing the machine

Take the Thermoseal NL 15R out of the box and put the machine on a
work table near an earthed socket. Take care that there is enough free
space around the machine. Also take care that there are no items near
the machine that are sensitive to heat radiation.

The Thermoseal NL 15R should be connected to the electricity grid
(220 V alternating current).

Use the machine’s power cable to provide current. The NL 15R is an
earthed machine and has been provided with two fuses of 2.5 amps
(slow).

2.3 Assembly

In order to operate the NL 15R without trouble, it is very important
that the machine uses clean, dry air. The available water condenser is
only an extra safety measure for your machine. The user must take
care that the air pressure does not exceed 6 bar. In order to work
without problems, there should be an air volume of 0.28 litres per
second.

a Connect an air hose with a diameter of 6 mm to the compressed air
unit in your company and also connect it to the condenser of the
NL 15.

b The air and electricity can be supplied from above, below and also
from the back of the machine.

¢ Install the foot pedal in such a way that you can easily operate it in
bith positions, Lead the cable underneath the table to the back of
the machine. The connection is under the bottom plate, near the
electricity box.

d Place the plug in the machine at the back and screw the locking
ring tight. Install the cable at the back of the machine in such a
way that it is not tight.

¢ Put the second rubber plate on the left holder.

User’s Guide Thermoseal NL 15R




3.

How to operate the N 15R

3.1 Starting with the NL 15R

You can work with the NL 15R when the machine is connected to the
electricity grid (see chapter 2),

1 Set the air pressure.
Keep the requirements and procedures in mind which have been
discussed in chapter 2.

2 Turn on the NL 15R,
Put the plug in the socket (220 volts).You can find the on/off switch
near the control panel.

3 Wait until the standard temperature has been reached.
This will take ten to fifteen minutes. The standard operating
temperature has been set to 204 °C.

4 The press can be operated now.

3.2 Function

Immediately after turning on the NL 15, a number for the machine
will appear in the LED display of the ‘smart box’. For the NL 13, it is
number 15, The programme version of the electronics is subsequently
shown.

A dot in the field of the upper plate heating and two vertical lines
indicate that the machine is heated. You can only operate the NL 15
when the temperature is displayed. This will only happen if the entire
display is filled with lines and the default minimum temperature has
been reached.

If the pressure is not correct while warming up, the dot and the two
lines in the field PRESS. will blink. After warming up, the message
‘S’ with the number 5 or 6 will appear, instead of the temperature.
This message will be alternated with the value of the incorrect
pressure.

It is possible to test and adjust the pre-pressure. If the pressure on the
press cylinder is too low, you can adjust the pressure regulating valve,
which has been built in at the back of the machine,

If any errors are noticed during the warming up of the NL 15, these
will be indicated as failures as well. See page 13 about the error codes
of the ‘smart box’.

After the warming up, the control panel normally shows a temperature
of about 204 °C, after which the machine can be operated. This is
done by the foot pedal.




The NL 15 has two press plates (shoes) on which you can alternate the
sealing. A press cycle can only be started if the swivelling arm is at
the end position. A built-in contact switch takes control of this.

You can turn off the sensor when the frame of the sensor is activated
by metal parts like zips and buttons. You can turn it off by means of
the switch called ‘SENSOR’, above the control panel. Press this key.
If the diode does not light up, it means that the sensor is off.

You can turn the NL 15 on automatic operation with the switch
‘AUTOMATIC’ (the diode lights up). As soon as the swivelling arm
reaches the left or right end position, the press cycle will
automatically be started.

If the automatic operation is turned on, you cannot turn off the sensor
function, for safety reasons. The sensor is activated automatically.

If you pressed the ‘EMERGENCY STOP’ key, this can only be
undone by turning the knob to the left.

3.3 Checking the pre-pressure

For safety reasons and for the protection of your machine, you should
check the pre-pressure after warming up the NL 15 by means of the
control panel.

1 Press the symbol key ‘PRESS.” in the display of the ‘smart box’. The
actual pressure will now be shown.

2 Push the knob of the pressure regulating valve (near the air
connection) down and turn it to the left as far as possible.

3 The pre-pressure will now be shown. It must not exceed 6 bar | If
there is no regulating valve, it should be built in by your technical
department.

4 Having finished the check, set the valve of the NL 15 to an operating
pressure of 5 bar again and fasten the locking knob once more.

3.4 The control panel ‘smart box’

The pressure, temperature and time are shown in the LED display.
The minimum, maximum and default values for temperature and
pressure have been set by the manufacturer. However, they can be
adjusted for each user. Read the instructions on page 13.

The settings of the press time depend on the operations to be done and
on the materials that will be used.

User’s Guide Thermoseal NL 15R




3.5 Safety facilities

The NL 15 has been equipped with a double safety structure, namely
sensor technique and mechanical technique. The upper shoe of the NL
15 is enclosed by a safety frame. The machine can be opened with a
light touch. The control panel confirms the touching of the frame with
a beep. The machine can only be operated again after a short period of
time,

It may be that you correctly set all instructions, but that the machine
opens immediately without sealing. The reason for this can be that the
sensor is activated by metal parts, like zips, buttons, etc. If you cannot
put the fabrics on the press pad in another way, you should switch off
the sensor when using these materials. At the back of the machine,
there is a switch, just above the connection of the foot pedal. Do not
forget to switch on the sensor again ! It is better to work with the
sensor as protection for the hands,

The sensor is a very sensitive element. Its sensitivity is set by the
manufacturer under normal conditions. However, it cannot be
prevented that conduction can occur by certain rooms or people,
which causes the sensor to be activated. Turn to the technical
department of your company to correct the sensibility of the
electronics,

When the safety frame is operated mechanically (which means that it
is raised), the Thermoseal NL 15 is turned off and the machine is
opened. The machine must be turned on again.

3.6 Temperature seftings

The default operating temperature of 204 °C has been set by the
manufacturer. If you want to, a different control panel with another
operating temperature and a larger temperature range can be ordered.

Do not try to change the programming of the ‘smart box’ yourself. In
case you want to adjust the operating temperature above or below the
default temperature range, please contact your Worldpatch distributor.

The default temperature range is: a minimum of 189 °C, a maximum
of 219 °C. If the temperature exceeds this range, the NL 15 cannot be
operated. The temperature settings can be adjusted with the control
panel, the ‘smart box’, see page 15.

3.7 Temperature check

The temperature is displayed digitally by pressing one key. An
additional check of the temperature between the press plates can be
performed by means of Thermolabels,

To check the temperature, do the following;
1 Let the machine warm up for about 30 minutes.

2 Set the time to 5 seconds and let the machine close.




3 After opening the machine, put the Thermolabel on the press pad and

let the machine close again.
Take the label away immediately after opening the machine.

The optimal temperature has been reached when the fields below the
field 182-204 °C are black. The lower limit has been reached when all
the fields of 182-199 °C are black and the field below 204 °C is dark
grey. The upper limit has been reached when all the fields of
182-204 °C are black and the field below 210 °C is dark grey.

3.8 Setting and adjusting the pressure

The working pressure of the machine has been set to 5 bar. The
pressure regulator on the machine only influences the pressure on the
press cylinder. The opening and closing of the NL 15 is done with the
pressure that is supplied by the machine,

The NL 15 has a pressure safety range. This means that a maximum
pressure of approximately 6 bar and a minimum pressure of about 3.8
bar is allowed. When the air pressure exceeds these limits, the
machine cannot be operated. You can set the pressure with the control
panel, see page 17.

3.9 Time settings

The default setting of the NL 15R is 12 seconds. Adjusting the
settings can be done with the control panel, the ‘control box’, see page
16. You can find directions for the time settings of the various
products and materials on page 16.

3.10 Protection against overheating

A safety thermostat has been built in on the upper shoe of the machine
to prevent overheating. This thermostat interrupts the power supply at
a temperature of about 260 °C. After the machine has cooled off to the
normal temperature, the thermostat automatically turns on the heating
again.

The upper shoe must be disassembled to replace the safety thermostat
(component no. AL 49999). Unscrew the safety frame first. Then,
unscrew the four screws in the corner of the insulating plate. The
thermostat has been built in at the back of the heating plate. Loosen
both flat-headed screws and take the component out. Screw the
heating plate again during assembly and correctly install the insulating
part in again.

Attention ! Pull the plug out of the socket before unscrewing the
crews!

10

User’s Guide Thermoseal NL 15R




4. Maintenance

4.1 General

Take care that the work cycle of the machine has been finished before
you start working with it. Depending on the actions that must be done,
the power supply or the air supply can be disconnected.

All pneumatic components, like the air cylinder, magnet valve and
pressure sensor are installed in the swivelling arm of the NL 15. The
electronics and the electricity have been stored in a separate box
below the back plate of the machine.

a

Mechanism

The air cylinder and other parts of the machine do not need
maintenance. The bearings are self-lubricating. However, it is a
condition that dry and clean air is used for the heat seal machine.
The available water condenser is an extra safety measure. Your
company should have a well-equipped maintenance service to
maintain the machine. Humidity and dirty air disturb a permanent
lubricating of the air cylinder. The pre-pressure must not exceed 6
bar !

Temperature
The temperature of the press plate can be tested regularly by
means of Thermolabels.

Teflon coating

The Teflon coating of the heating plate must always be absolutely
clean. If not, patches and labels will stick to the upper plate, or
there will be impurities on the products. You can observe this
when opening the machine. The fabric is pulled up a little from the
lower shoe. Clean the pad with a dry cloth when the machine is
still warm. Clean several times a day ! When the Teflon is
damaged or cannot be cleaned anymore, replace it immediately.

Press pad

Clean the coating on the lower shoe, the press pad, regularly with
a dry cloth while the pad is still warm. Zips, buttons, staples, etc.
must not be put on the pad in order to prevent holes and tears.
Never clean the press pad with solvents and thinners or other
chemicals. This would absolutely affect the coating. Do not pull
the fabrics from the pad after the sealing process, but take it off |

Replacing the Teflon coating and the lower press pad

The Teflon coating of the upper shoe and the lower press pad must
be replaced regularly, depending on their condition. Both are
adhesive. The heat seal machine must be cooled down to replace
the Teflon ! Pull the old coating off like a plaster. Carefully
remove the glue layer from the metal surface. The surface must be
absolutely clean and even, so that the new Teflon can stick well.
You can find the components on page 20, Accessories and
components.

11




f Air filter
Empty the air filter and, especially, the water condenser daily.

g Cleaning
Only parts that can be reached from the outside of the machine,
must be cleaned.

4.2 Replacing the control panel the ‘smart box’

Repair of the control panel should be done by the manufacturer ! It is
better to order replacement electronics, because they can be installed
easily and quickly.

Replacing the ‘smart box” can be done as follows:

Unscrew the cover of the electricity box from the underside. The part
on the cover contains the power supply. The ‘smart box’ is stored in
the upper part of the box.

Loosen both muts and pull off the plug, after which you can take out
the power supply.

The display that is visible from above, is connected to the control
panel with a cable, and can be replaced if it is damaged. In this case,
the upper part of the electricity box must also be taken out. To do so,
unscrew the 3 nuts of the incoming cables, that run via the table. The
operating field of the ‘smart box’ consists of self-adhesive covering.

Attention ! Pull the plug out of the socket before opening the
electricity box !

After installing the ‘smart box’, turn on the machine and check the
message in the display to see if the new electronics are fit for model
NL 15 and whether the programme version for your machine is
cofrect or not.

Each ‘smart box’ is adjusted by the manufacturer to the machine
concerned. The spare part has only default settings. If you want
specific settings, replacing the control panel has to be done by the
Worldpatch distributor.

Please check the adjusted time, pressure and temperature after the
warming up of the machine and set these values to the values you
wish to have.

12

User’s Guide Thermoseal NL 15R




5. Functions of the ‘smarxt box’

5.1 INustration of the ‘smart box’

CONTROL PANEL
o y i
i e : : !
control indicator ————4_ I 33127 I '
o 1
I | I
N Tt ] |
temperature upper pressure
shoe
temperature lower | presstime
shoe {(not for NL9)
minus key ~—— pluskey
stop key

13




5.2 Messages in the LED display

A description is given below of the messages in the display which
appear immediately after turning on the machine. Further, we will
discuss some failure codes that can be displayed on the control panel
display.

Messages

After turning on the machine, the address for the machine for which
the electronics has been set, is first shown in the display.

15is model NI, 15

Secondly, the programme version of this ‘smart box’ is displayed.

21 is version 2.1,

Thirdly, the normal programme functions are displayed.

Failure codes
There are 7 different failure codes that can be displayed.

0 Safety switch not in end position or failure in the 24
Volt circuit of the electronics.

Temperature sensor in upper shoe not connected.
Temperature sensor in upper shoe is defect.

Not displayed for the NL 15.

Not displayed for the NL 15.

Pressure too low.

Pressure too high.

[ ] AW, NN EORE ] ] Fon

The failures are indicated by *S -’. The notation is ‘S’, followed by a
dash and a number 0-6.

This message is alternated with the incorrect values that are measured
by the electronics.

Some examples:

CODE EXPLANATION

‘§-5 Failure no. 5

Alternated by ‘2.8° | Pressure too low, only 2.8 bar,

‘S-1 Failure no. 1

Alternated by ‘238" | Sensor in the upper shoe not connected;
actual temperature is 238 °C.

14 User’s Guide Thermoseal NL 15R




5.3 Changing the settings

A description is given below of the way in which the settings of the
control panel of the NL 15 can be adjusted.

HEE

The input of the temperature (in °C), the pressure (in bar) and the time
] (in seconds) can be checked in the display. In the left part of the

display, the symbol of the key which was selected and shortly pressed
is indicated by a red indicator. The value on the display refers to this
symbol.

The meaning of the symbols is as follows:

peea 1 Temperature symbol

The temperature is given in °C. In the display the latest entered value
of the temperature is given. The work setting and the recommended
value is 204 °C. The temperature range is a minimum of 189 °C and a
maximum of 219 °C.

O3
o
=
Lo

2 Pressure symbol
The air pressure is expressed in bar. The display shows the latest
entered pressure. The range is from about 3.8 bar - 6 bar. These
settings only regulate the air pressure. The closing process of the
machine is not adjusted.

1

3 Time symbol
The press time in seconds. The display shows the latest entered press
time in seconds. The run down of the press time is displayed by means
of a timer.

4 Plus key
By means of the plus key the values can be raised.

S Minus key
By means of the minus key the values can be lowered.

6 Stop key
After pressing a symbol, the new value is displayed for almost 30
seconds. Restoring the value is done automatically, but by the ‘STOP’
key is it done immediately.
After changing a value, the corresponding symbol must be pressed at
the same time as the ‘STOP’ key to save the new value.

5.4 Setting the temperature with the ‘smart box’

Below we will describe the way to adjust the temperature settings for
the NL 15.

Attention !Let the machine warm up for at least 15 minutes before
you make any changes to the temperature setting.

The operating time between two keys must not be more than 8
seconds,

15




(2
T

The work settings and the default value is 204 °C. The temperature
range is between 189 °C and 219 °C. Settings between 100 °C and
230 °C and longer ranges can be programmed by the manufacturer. It
is also possible to program a fixed defauit value for your machine.

Shortly press the keys explained below:

1. Key with the temperature The display shows the last
symbol of the upper shoe. entered temperature.
2. Key‘+ ‘The value in the display will

If the temperature must be
higher.

Kcy ‘_J
If the temperature must be lower.

become higher.

The value in the display will
become lower.

Press the temperature key and
hold it. Then press ‘STOP’. In
this order !

The display shows 3 horizontal
lines with a dot instead of the
temperature value. A beep is
also given.

Press the temperature key again
to check the new value,

The display shows the new
value.

5.5 Press time settings on the ‘smart box’

=]
RN 7o
D

The time between pressing the keys must not be more than 8 seconds.

The work setting is 12 seconds. The time range is 1 to 255 seconds.

Press the keys explained below:

L.

Key with the time symbol of
the upper shoe.

The display shows the last
entered press time in seconds.

2.

Key £+7
If the press time must be
longer.

Key < _}
If the press time must be
shorter,

The value in the display shows
the larger press time in seconds.

The value in the display shows
the shorter press time in
seconds.

Press the time key and hold it.
Then press ‘STOP’. In this
order !

The display shows 3 horizontal
lines with a dot instead of the
time value. A beep is also
given.

Press the time key again to
check the new value.

The display shows the new
value.

16

User’s Guide Thermoseal NL 15R




5.6 Pressure settings on the ‘smart box’

The work setting is approximately 5 bar. The value ‘50’ in the display
means 5.0 bar. The pressure range is 3 - 6 bar.

The pressure regulating valve is on the right side of the housing, as
seen from the front of the machine. To adjust the pressure, the valve
must be turned down a little to become unlocked. When turning the
valve to the right, the pressure becomes higher, to the left the pressure
becomes lower. After adjusting the pressure, press the valve in again.

The proceedings are as follows:

1 Set the press time to 2-3 seconds (see the setting of the press time
above),

2 Pull the pressure regulating valve out and unlock it.

l 3 Pressure key.
—, The display shows the latest entered air pressure in bar.

4 Set the correct pressure on the display by means of the valve and close
the press plates. After opening the plates, check the air pressure by
pressing the symbol key. When the displayed setting is not correct,
you must repeat adjusting the opening/closing process until the correct
values +/- 0.2 bar appear. The value is displayed for almost 30
seconds.

§ Press the regulating valve again to lock it.

6 Press ‘STOP’
Pressing this key will set the electronics in the working position.

i 7 Check again by pressing the pressure symbol, if you want to.

8 Set the press time to the correct value again !

Attention !If the requested pressure even after turning the valve up to
the correct position is not reached then there is insufficient pre-
pressure (input pressure). Check the pressure pipe. The pressure must
not exceed 6 bar |

17




6. Trouble shooting

Failure Possible causes Solution
Heating plate 1. ON/OFF switch is not set | Check
remains cold to ON Put the plug into
2. Machine is not connected | the socket
to the electricity grid Check
3. Electronics not connected
to the machine Replace
4. Temperature sensor Correct
defective Replace
5. Electronics wrongly set Replace
6. Electronics defective Check thermostat
7. Heating element defective | and, if necessary,
8. Safety thermostat against | replace it

overheating was activated

and has not been turned on

after cooling down

Heating plate
becomes too hot
or too cold

1. Check set value by pressing

symbol key

Set correctly

Indicator blinks
during the
warming up and
the red dot of
the check box is
on the field
PRESS.

1. Insufficient pressure

Set the pressure
correctly

After the
warming up, the
indicator does
not show the
temperature, but
the pressure

1. Insufficient pressure

Set the pressure
correctly

Machine opens

1. Check set value by pressing

Set correctly

too early the symbol keys
2. Safety frame was touched | Put textile correctly
on the pad

Machine cannot | 1. Foot pedal not connected | Check

be closed 2. Incorrect pressure or Check

temperature

Machine is 1. Pressure too low Check air pressure
closed, but does | 2. Textile too thick, machine |system

not seal

cannot be locked

Put textile correctly
on the pad

18

User’s Guide Thermoseal NL 15R




Insufficient
adhesion of
patches, label
tapes, labels or
fixing of the
transfers

. Press time too short

. Incorrect pressure

. Heating plate too cold

Press pad of lower plate
wora out

Increase time
settings by 2
seconds and check
results

Set pressure
correctly with knob
and check results
Check temperature
Replace

5. Teflon below heating plate
dirty or defective Clean with soft
cloth or replace
Transfer colour | 1. Time setting too long Decrease time
or layer 2. Temperature too high setting
penetrates Reduce temperature

19




7. Accessories and components

7.1 Components that should be replaced regularly

¢ Press pad with thin metal plate, self-adhesive

145 x 120 mm N 15-15010

¢ Teflon coating, self-adhesive

150 x 125 mm N 15-15082

20 User’s Guide Thermoseal NL 15R




7.2 List of components (see drawings from page 24 onwards)

Drawing no, | Component no. | Description

1 N15 001 Housing swivelling arm

2 N15 002 Housing

3 N15 0038 Rotary shaft

4 N15 004 Ball bearing axis

5 N15 005 Cover plate

6 N15 006 Flat-headed screw M6x15

7 N15 007 Pin 12mm

8 NI15 008 Pin 8mm

9 N15 009 Back plate 150 x 130

10 NIS5 15010 Lower press pad

11 N15011B Heating plate

12 N1i5012B Heating element 220 V /550 W
14 Ni5 014B Intermediate plate

15 N9 5088 Temperature sensor PT 100, 50 x 3 mm
16 Al 49999 Safety thermostat

17 N15017B Sensor frame

18 N15018B Safety frame

19 Ni15019 Flat-headed screw M3x10
20 N15020 Fillister head screw

21 N15021 Flat ring

22 N15022 Gear wheel

23 N15 023B Insulating / press plate

24 N15 024 Flat-headed screw M16 x 25
25 N9 9086 Microswitch for safety frame
26 N150206B Housing for switch

27 N15 027 Fillister head screw M5 x 10
28 N15 028 Flat ring M5

29 N15 029 Gear wheel M5

30 Ni5030 Fillister head screw M3 x 20
31 N15031 Flat ring M3

32 N15 032 Fillister head screw M5 x 30
33 N15033 Bush for spring throughput
34 N15 034 Compression spring

35 N15 035 Bar of the switch

36 NI15 036 Connecting bar

37 N15 037 Cross-slotted screw M3 x 16
38 N15033B Cover plate with cable guide
39 NI5039B Air cylinder

39a* N15 039 REP Repair kit for air cylinder
40 N15 040 Screw M8 x 10

41 NI5041 Filtister head screw M10 x 90
42 Ni5042 Handle

43 N1i5043 Flat-headed screw

44 N15 044 Cover plate

45 N15 045 Flat-headed screw M3

46 N15 046 Cover plate for housing

47 NI15 047 Gear wheel M6

48 NI15 048 Pivot pins

49 N15 049 Cross-slotted screw M3 x 20
50 N15 050 Box for power supply

51 N9 9090 Fool pedal with cable and plug
52 N9 9092 Electricity cable with plug

21




Drawing no. | Component no. | Description

53 N15 053 Pull relief

54 NI15 054 Emergency button

55 N15 055 ON/OF switch

56 N9 9083 Mains guide plate

57 N15 057 Conirol panel ‘smart box’

58 N15058 Safety switch

59 NI15059 Contact switch

60 N15 060 Gasket safety hose

61 N15 061 Safety hose

62 NI15 062 Gasket safety hose

63 NI15 063 Safety house

64 N15 064 Cable bundle I

65 NL15 065 Cable bundle I

60 NI5 066 Distributor case

67 N9 9089 Pressure sensor with cable

68 N9 9157 Coupling regulating valve

69 CE 2497 Fuse 2.5 A (slow)

70* NI5 070 Sound muffler

ua! N9 9061 Magnet valve 24 volis

72 N9 %059 Angle hose coupling

73 N15073 Reducer sleeve 1/4 - 1/8 with jointing ring
74 N9 S060 Angle hose coupling

75 N9 9055 Double hose coupling

76 N9 9054 Connecting nipple with nut
77 N5 077 Air filter unit / reducing valve unit
78 N9¢ 9051 Hose coupling, air connection
79 Ni5079 Hexagonal screw M4 x 10

80 N15 080 Flat ring M4

81 N15 081 Gear wheel M4

82 NIi5 15082 Teflon layer, self-adhesive

83 N135 083 Cover key unit ‘smart box’

24 TP 0522 Solid state relay

85 N15 085 Nut M4

86 N15086 Flat-headed screw M3.5 x 16
87 N15 087 Nut M3.5

88 NI5 088 Flat-headed screw M5 x 15
89 N15 089 Flat-headed screw M5 x 12
90 N15 090 Switch AUTOMATIC ON/OFF
91 N15091 Switch SENSOR ON/OFF

92 N15092 Cover plate

93 N15 093 Fillister head screw M3 x 8
94 N15 094 Back plate for switch connection
95 N15 095 Guide plate for lower shoe

96 N15 096 Fillister head screw M10 x 10
98 Ni5 098 Holder for contact switch

100 Nis5 100 Adjusting foot

* not represented

22

User’s Guide Thermoseal NL 15R




7.3 Order form components Thermoseal NL 15

If you want to order components for the Thermoseal NL 15R, copy
this form, fill it in and send or fax it to your Worldpatch distributor.

Drawing
noe.

Component
1no,

Description

Quant.

SENDER;

Company name:

Contact:

Address:

Postcode and town:

Telephone number:

Fax number:

Date;

23




8. Drawings and diagrams

On the next pages the following drawings are given:

8.1 Exploded view NL 15R

Meaning of the cables on the exploded view:

¢ Middle cable bundle
The connection of the electricity box to the contact switch.

¢ Cable bundle, no. 64 on the drawing
Power supply of 220 voits from the heating element and all earthed
cables to the various parts of the machine.

¢ Cable bundle, no. 65 on the drawing
Contains the operating and control cable (low voltage).

8.2 Pneumatic Diagram NL 15R

8.3 Connection diagram circuit board NL 15R

24 User’s Guide Thermoseal NL 15R







PNEUMATIEK - CHEMA

PRESZYLINDER
K15 - 039

—1
| I |

MASCHI NENWAND
[
I
]
! MAGNETVENTIL,
' E:E,\ 1 4 N9 - 9061
t 4
)
i
T !
1
1
-1 i
SCHLAUCHKUPPLUNG !
N9 - 9051 LUFTFILYER UHD {
REDUZIERVENTIL-ELNHEIT t
N15 - 077 | A
i \ % DRUCKLUF TSEHSOR
I N9 - $089
]

THEAMOSEAL NL 18
PNEUMATIC DIAGRAM
1993/12/ 15




1 1° PLLRTE BT Y W KA XaTY] HLE 5

mzL ING"¥AIBST N c_ a

26PZ 3D DINNH3IHDIS

a Zig — SIN r806 — & Z. HIALTUNSINNEIRD IS

a3 Sapany  juswndag #r 1 TSP
ST TIN UT [d% JNE (U3 PUn —sBUNYeUpUdas f J J
*1171]
QS058T “WN -~ wajas5 qy
At
Ty
Q13
1064
TE 3]
Aty
= =
Ja S Uiy
[=nl a3l Ak IS )
340140
iq PE1E
" GAT g
zj 2 zl -l
650 — STN T _ _- _ _ I _
CRALLT 23 ) [EYDLOUNJIBYTN
SORUSG —.*:.* —L.* —ayny N
e . B ORI RS
X . F L G —
11 LI = T radAgsd E ZAd AL thih 4 R
fik) T
By [EUILEENY (SRR LS Fav)
ul ey [¥4OS
L) rARS LEL L] .........:....::
LTI N H
TI3157A | : :
it Y bdr £dr
—
mmn-.m = GM T T e g v
A0SR HIMAP N ) i
P m o]
BURSUTEMINL] £A0E — 6N ERt)
{ Td _ ERAE (e} e[ TR E )N
) _ GCREH @N —iFig
) % mu T A .>~.n Xz
d
: e K154 QH qT35 HOg jumwg
HTUOUIHE LS JaN2}S
1906 — 6H T ToU MM”.H g —
1]iusAalsudwy N ]
o] S b [nerarvoy
I R = | Lis i Sl rasAgEsE——
JUGSTI®IY 199 a TET3A
: LTE TSN H {UsT 3] 1oH \-H TUnESg ADTI X Z
Ly e e ) [ RYIAYD T : N Aﬁ
: IHE juaIosUag Y {USTJ]y TXTIH TV TeYAT sunx yat TAY LY
H H .W n—q T sIwiay
H ¥ TUSTIF IS FETSH LY
: Usuwnqe sl {avoaYD TR : (USTIFI LT3 mwA‘ (347
H =8} [TYILOIDITH H IZTS0 ol
H 3 H/H TIEIaH ByTES 1195
H ——— 1 A= H
i H GREIE B T
H : 11 A UnElg
H 8806 — 6N : ] ET] i v,
H dmfyrjowdeyy [ — B ﬁ HETT ¢SS0 — SIN
H Q0Y Ad EEES LYY -
Z]

tuswa [z TeH : i ws
i 23}1€1dusq0 aND S
1 ; |
: ] N
8666 19 «n«-o:...-.: = i *31jw ldasiun OND S =
LA OE&'I H - 1
S MR ] _
#3 31T TN ON Uso ARNeusD QND = S606 — &M
i3zl I I a3 #4435 ~ SAUNII owA 0ZZ
iy 32117 ABHISLNT I AN
X usiun sinesqsn OND : ws*z 11
¥ S83I8YES OND L |n._ﬂu.o|4|0\omdjlﬂl.m

T A3 (Y5 OND =

T




